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> 15 (2010 ) D100 mL  mol* L™ @© ¢(Na*) =0.1 mol *+ L™
0.1 mol * L™' NaHCO,. ® 100 mL 0. 1mol * L™
Na, CO, ( ). :@>0 B ; HCO;
A. H* :@>® @D e(H,CO;) >e(COTY)
B. @>D C . CO
c.D 1¢( CO37) >¢( H,CO;) HCO;
D.@ C( HCO;) >C( H2C03) @ C( HCO;) >C( HZCO;) D
C.
Na, CO, NaHCO,

H* @>D A 1@ ¢(Na") =0.2
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1 (2012 ) —
(xNa,SO, * yH,0, * zH,0)
0 1. 7700 ¢
100. 00 mL A.Q 25.00 mL A
BaCl, N .
0.5825 ¢ .3 25.00 mL
A 0.02000 mol * L™
KMnO, KMnO, 25.00 mL.
H,0, KMnO, :
2MnO, +5H,0, +6H*=—==Mn"" +8H,0 +50, 1
(n BasO, K, =1.1x107"
¢(80;7) <1.0x10 ®mol * L'
¢o(Ba’*)=__  mol+ L™

(2) MnO,

2013

(1)
e(Ba’") =K_/c(SO;7) =1.1x10 *mol » L™,

(2) MnO,

MnO, H,0, 0,

MnO, H,O0,
OH™ 2MnO, +

3H,0, =—=2MnO0, | +30, T +20H" +2H,0;

(3) : n( Na,SO,) =n( BaS0,)

= 098238 5 504107 mol;
233 g * mol

2MnO; +5H,0, +6H'=—=Mn"" +8H,0 +50, 1
S
2

25.00 mL) /1000 mL *+ L™' =1.25 x 10 mol
m( Na,S0,) =142 g * mol ' x2.50 x 10 *mol =

n( H,0,) ==-(0.02000mol * L' x

0.355 g

m( H,0,) =34 g+ mol™'" x1.25 x 10 " mol =
0.0425 ¢

n(H,0) = (1.7700 g x25.00 mL/100 mL) —
0.355 §-0.0425 g /18 g *mol ' =2.5x10 ™" mol
x: vtz =n( Na,S0,) : n( H,0,) : n( H,0) =
2:1:2 —
2Na,S0, * H,0, + 2H,0.
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2+ 2+ 8\\\\\
MCO, ( M: Mg"" . Ca™" o oNNe:
Mn2+) 4 \Q‘x"\ ;\\ nc
1N GaGOh LN
: T RON
[ 6 & 10 12
© pM = —lge( M) N p(éog-l)
pe( COT7) = = lge(COT7) .
( ) -
A. MgCO,.CaCO,\MnCO, K,
B.a MnCO, ¢(Mn™")
=¢(COY)
C.b CaCo, c(Ca’")
<e( COY)
D. ¢ MgCO,
e(Mg’") <e(CO37)
“pM
= ~lge(M) pe(COT7) = ~lge(COT7) "
pH pM . pe( COZ7)

pH

pM pc( CO?) pH
MgCO, .CaCO, -MnCO, | 4
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(1)
1. A8 IR AR TR 09 TF & 5 A R B AR _ )
A. B.
C.
N N D.
(2) H,0, H,S0,

1 (2000 )

Ojig OC

~Ho § cH.OF
C ).
A.
B.

C.H,,0, +6H,0 - 24e —=6C0, +24H"

Cu’* (aq) +H,(g)

Cu(s) +2H"( aq)
AH =64.39k] * mol ™'

2H,0,( 1) ==2H,0(1) +0,(g)
AH = -196.46 kJ * mol ™'
H,(g) +1/20,(g)=H,0(])
AH = -285.84 kJ * mol

H,S0, Cu H,0, Cu’”
C. H* H,0 -
D. 1 mol (3)
C0,22.4/6 L 10% H,0, 3.0 mol * L' H,SO,
( )
(C) M 0D 40 0N O O B
A : H'
027 HZO C ; 7.34 8.01 9.25 7.98 7.24 6.73 5.76
( x1073mol * L' emin~1)
1 mol 4mol e~ C¢H,, 0, +6H,0
—24e”=—=6C0, +24H" 4 mol e 40%C
lmlCO, 24L D . B. -(4)
2. I i H BIRIEAR A LM CuS0, Na, S0,
. . . NaCl CuCl L
»K, A ; a “ N ”
MnCO, c(Mn*") N
¢«(CO) B ; b CaCO, N
c(Ca*") >
¢«(CO) C : ¢
MgCO,
o(Mg®") <e(CO7) D
B.D. ( 12014 —02 - 12)



